
Quadratic Inequalities
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1(a) For which values of 𝑥 is the following inequality true?

𝑥2 − 3𝑥 + 4 > 2

[1 mark]

𝑥 = 0 𝑥 = 2

𝑥 = 1 𝑥 = 3

1(b) For which inequality is the value of 𝑥 true?

𝑥 = 7

[1 mark]

𝑥2 − 7𝑥 + 7 < 7 −𝑥2 + 7𝑥 + 7 < 7

𝑥2 + 7𝑥 − 7 < 7 −𝑥2 + 7𝑥 − 7 < 7

1(c) Which solutions satisfy the following inequality?

𝑥2 + 7𝑥 − 30 < 0

[1 mark]

3 < 𝑥 < 4 −10 < 𝑥 < 3

−3 < 𝑥 < 10 −5 < 𝑥 < 6

Turn over for next question 

Turn over ►
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2 Solve the following inequalities:

2(a) 𝑥2 + 5𝑥 − 13 ≤ 1

[2 marks]

Answer

2(b) 7𝑥² − 58𝑥 + 16 ≤ 0

[2 marks]

Answer

2(c) 𝑥² > 4(8 − 𝑥)

[2 marks]

Answer

2(d) 𝑥² − 𝑥 − 30 ≥ 0

[2 marks]

Answer

Turn over for next question

Turn over ►
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3 Donald and Amir disagree about the solution to the inequality,

𝑥2 − 4𝑥 − 13 ≥ −8

Donald claims that the solution is 𝑥 ≤ −1

Amir states that the solution is 𝑥 ≥ 5

Who is correct and why?

[3 marks]

Answer

Turn over ►
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4 For the following inequality, 

−𝑥2 + 7𝑥 − 12 ≥ 0

determine if the solution is,

3 ≤ 𝑥 ≤ 4 or 𝑥 ≥ 4, 𝑥 ≤ 3

[4 marks]

Answer

Turn over ►
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5 Solve for the following inequality,

𝑥2 − 9𝑥 − 5 ≤ −4𝑥 − 9

[3 marks]

≤ 𝑥 ≤

END
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